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Time: One Hour

Instruction:
e Attempt Any 40 Questions.

1 Financial accounts record only.

(A)Actual figures (B)Budgeted figures
2 The term financial analysis includes
e fargesor 4t d3rer ST FETIT &
(A)Analysis (B)Interpretation
3 The term financial statement refers to
Farfr feammor ar wreaTa/ werar HT
(A)Income statement (B)Balance Sheet
=T faavor ferdr faaem

4 Which report gives a review on the profitability of a business ?
FTOTAT SEAT SHATHAT=AT WATAT TA A T FcT?

(A)Income Statement (B)Balance Sheet
=T faavorer ferdr faavor/ aresas

5 Analysis of any financial statement comprises

(A)Trading Account (B)Profit & Loss Account

6 The analysis and interpretation of the financial statement will reveal

(A)The financial position (B)The profitability

7 Which of the following is the main objective of a financial statement?

(A)To know solvency (B)To know the debt capacity
TR (solvency) ATfad #vaTaTSr ST &7 AT AT R HTUATHIET

8 Comparison of financial statement highlights the trend of the

s faaeor=r gemT sraEET=ar AT AT () Tbh T
(A)Financial position (B)Performance

s ferdr FAfTT
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(C)Standard figures
THIT

(C)Both (a) and (b)
(a) =TT (b) AT

(C)Fund flow and cash flow

(C)Cash flow Statement

(C)Balance Sheet
ferdr faawm

(C)Both (a) and (b)
T4 (a) AT (b)

(C)To know earning capacity
[S— e -

business

(C)Profitability
FASHIIVT | AT

9 When opening stock is Rs. 10000 closing stock is Rs. 12000 and cost of goods sold is Rs. 44000 the stock turn over ratio is
STeT T & 10000 %. EHavor & 12000 . ATIT farshitey ATeArar TRomT 77 44000 . 35 deay S SEd AT Far

(A)2 times
29z

(B)3 times
39
10 What is the amount of cost of goods sold, when:
Opening stock = Rs. 10500
Closing stock = Rs. 4500
Purchase = Rs. 60000
farsirer ATt T fdT, SEr
I e = %, 10500
HIT =y = %, 4500

=ET = 60000
(A)Rs. 66000 (B)Rs. 60000
66000 =. 60000 =.
11 Creditors turn over ratio =
YT (ITA) AT AT =

(A) Creditors + Credit Purchase

(B) Creditors - Credit Purchase

(C)4 times
49z

(C)Rs. 81000
81000 7.

(C) Credit+ Bill Payable

No of working days in a year
: -
12 Current Liabilities — Bank Overdraft =

(A)Quick Liabilities

T e

(B)Long-term Liabilities

13 Debtors Turnover Ratio =
U AET AT =

(A) Credit Purchase (B) Credit Purchase

Average Debtors Average Creditors
TR FRTRE
14 Debts to Equity Ratio =
wOAHAT AT =
(A) Shareholders Funds (8) Long-term Liabilities
Outsiders Funds Short-term Liabilities
AT Eelkini:l
w= A AR
15 Which of the following is not included in liquid assets?
HTATATH A7 HI T F G HEI ATAT 2
(A)Debtors (B)Stock
16 Overall Profitability ratios are based on
T AR ST AT AwAd_

No of working days in a year

Credit + Purchases

Wm"ﬂrx B
T Wl e A

(C)Outsiders Liabilities
aTEy TFAT

(C) Total Debtors
Credit Sales

Tyt et e

% No. of working days in a year

(C)Outsides Funds x Shareholders Funds
TraEr Fr x qrrSEET e

(C)Cash at bank
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% No of working days in a year

Max. Marks: 40

(D)AIll of the above
TR T

(D)Record only
T AT

(DAl

(D)Statement of change in equity

(D)All of the above
T T

(D)None

(D)AIl of above

(D)All of the above
ERERcy

(D)5 times
59

(D)Rs. 51000
51000 %.

(D) Credit - Bill Payable
Credit + Purchases

m“ f-ﬂij -,

= No of working days in a year

(D)None of the above
FEAE ATAr

(D)None of the above

Outsiders Funds
Shareholders Funds

FT

©)

(D)Cash in hand
g s narcy



(A)Investments (B)Sales (C)Both (a) & (b) (D)None of the above

s e 4T (a) =T (b) T A
17 Net working capital =
I FAF ST =
(A)Total Current Assets (B)Total Current Assets — Total Current (C)Current Assets + Current Liabilities (D)Current Assets + Fixed Assets
TR T FAHT Liabilities ST ST + T 3T ST ST + e g
18 The working capital depends on of the business
FHFT WS & ATHEAT=AT T AT AT
(A)Nature and size (B)Length of manufacturing (C)Terms of purchase and sales (D)All of the above
19 The gross working capital is a concern concept
(A)Going (B)Actual (C)Periodical (D)None of these
T areafad EREEnEED ST ATET
20 The funds invested in current assets are termed is
(A)Financial Capital (B)Working Capital (C)Monetary Investment (D)All of above
21 The goal of working capital management is to have
(A)Adequate cash flow for continued (B)The most productive uses of (C)Only (a) & (b) (D)None of these
operations resources e (a) T (b)
m
22 Constituents / Elements of current asset is / are,
(A)Cash in hand (B)Bank Balance (C)Stock (D)All of above
23 Constituent / Elements of current liabilities is / are
(A)Creditors (B)Bills Payable (C)Both (a) & (b) (D)None of these
EEcy =7 farr ST (a) AT (b) AT ATE
24 Which are the components of working capital?
(A)Current assets & current liabilities  (B)Fixed assets (C)Fixed liabilities (D)AIl of above
S HAT A0 = Z AT fere =T fere Toar AT T
25 Capital Budgeting deals with:
VS SETATTae TR
(A)Long term decisions (B)Short term decisions (C)Both (a) and (b) (D)None of these
ST o A ForT ST (a) = (b) T TR

26 Depreciation is included in cost in case of:

AT BT / T ST SIS et St

(A)Pay back method (B)Accounting rate of return method (C)Present value index method (D)AIl of above
27 Which is not the principle of capital structure planning?
(A)Principle of cost (B)Principle of control (C)Principle of equity (D)Principle of risk
28 Capital Budgeting is
WTSTeT STRTTT ST HISae=T |9 a4 FUATEST A0 faa7aeT oA RIEEEE o
(A)Short term (B)Long term (C)Both (a) and (b) (D)None of these
HETHAT EFaT =4 (a) T (b) T ATE

29 Capital Budgeting is also known as
WTSTET STRTTT A FE SETel e ST
(A)Investment Decision Making (B)Capital Expenditure Decision (C)Planning Capital Expenditure (D)All of above

30 In capital budgeting project is accepted when
MTSTAT SR TeherT dhoal ST Sar

(A)Net present value is greater than (B)Internal Rate of Return will be (C)Profitability index will be greater than unity (D)Any of the above
zero greater than cost of capital T TR TeRAT 'unity' ST ST S AT FOTTEr
BTAITaT ST S
31 Capital Budget represents
(A)The expenditure on assets (B)The income on asset (C)The estimated expenditure on fixed assets during the budget  (D)AIl of above
ATAH T FededT Fe AT [HoAe T Feq=ra period AT FETEr ATE
32 on capital is called 'Cost of Capital'
AT AT Fftee Fe o
(A)Lower expected return (B)Normally expected return (C)Higher expected return (D)None of the above
33 What is the main advantage of responsibility accounting?
(A)Improves performance (B)lt fixes responsibility (C)Helpful in decision making (D)AIl of the above
34 Contribution margin center is also known as
(A)Expenses center (B)Profit center (C)Investment center (D)AIl of the above
T T e e T
35 Which of the following is responsibility center?
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(A)Expense center (B)Profit center (C)Investment center

36 The responsibility centers, for control into, types.
(A)Five (B)Three (C)Four
ks & kus
37 Responsibility accounting is also known as
(A)Profitability accounting (B)Activity Accounting (C)Both (a) & (b)
A AT FrATEHET (Activity) T ST=4r (a) =TT (b)
38 In responsibility cost accounting the costs in focus are
(A)Controllable costs (B)Uncontrollable costs (C)Both (a) & (b)
LRIEGRCES srfEfaT A ST (a) AT (b)
39 The area of focus on responsibility centeris_____
(A)Quantum of Sales (B)Quantum of production (C)Optimum until ration of resources
fer=rer sreror FeqTEAT FHTT FETITET SEEad (T4 ) ITATT

40 In responsibility accounting responsibility of various groups or individuals are identified in terms of.

TR AT (e T Sare= T far sraarar HBEAT AT
(A)Work (B)Revenue (C)Costs
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(D)All of the above
ERERcy

(D)None of the above
T FETE A&

(D)None of these
AT ATE

(D)None of the above
T ATA

(D)AII of the above

(D)AIl of the above
ERERcy



